
Perimeter:	On	a	Grid	

Workout	

Question	1	

(a) 12cm	 (b)	16cm	 (c)	10cm	 (d)	12cm	 (e)	13cm	 (f)	18cm	

	

Question2	

(a) 26cm	 (b)	28cm	 (c)	28cm	 (d)	26cm	 (e)	28cm	 (f)	24cm	

	

Apply	

Question	1		

	

	

Question	2		

	

Question	3	

(a)	

	 	



(b) A	=	36𝑐𝑚!	

	

Question	4	

(a)		

	

	

(b)	P	=	16cm	 	 P=	14cm	 	

						P=	26cm	

	

Question	5	

(a)		

	

	

(c) 28cm	

	

Question	6	

	



Question	7	

Area	was	counted	instead	of	perimeter	

	

Question	8	

	

A	=	18𝑐𝑚!	P	=	18cm	

	

	

A	=	16𝑐𝑚!	P	=	16cm	

	

	A	=	22𝑐𝑚!	P	=	22cm	



	

A	=	28𝑐𝑚!	P	=	28cm	

	

Question	9		

	

A	=	15𝑐𝑚!	P	=	18cm	

	


